3x(6x — 4y) & {tHd] sHH?

O -18x% — 12xy @ —9x% - Txy @yle2 - 12xy

@ 18x% + 12x ® 18x% + 12y

3x X 6x + 3x X (—4y) = 18x% — 12xy




1\? 1
<x+§) =x2—ax+§‘?=lﬂﬂ,*o}-’?—a9]§{’—?

1 1 4 5 2
-5 @3 E
rx+-=x-ax+ - °BR2 g 2 o|ch.

3 9 3




3. (Bx-2)2=px2+qx+4 4, F5 p, gl tiste] p-g 9 727

® -49 @ -14 ® 7 @ 14 @21

(Br)2-2x3xx 2+ (-2)2 = 92 - 12x+ 4 O|B& p—g =
9-(-12) =21




& 27} o] @ we] o)z} am 9 A}
A9 B AL ARG A2E At
m T 52 ), gheke] yolk? NEE g

@ (a® - 3a+ 2)m? (@)(a2 + 3a + 2)m?
® (a®+2a+ 1)m? @ (a®-4a+4)m?

® (a®+ 6a+ 9)m?

sold o] 7tz 9] o] (a+1)m , AIZ9] 4] (a+2)m
wrabA] StEo] Yol (a+ 1)(a+2) = a® + 3a + 2 ©|t}.




)
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rlo
D

® —X+Yy




6. (x-2y+3)Bx+y-4) E ANFAES W, xy &) AFE?

1 @2 0-3 @-4 G-

AANGE o xy o] e B¢ Ants HH xxy-2yx3x =
—5xy




7. (x=3)(x+3) 2+ ) =xt-81014[  [ote] ggre 59

@ -3 @ 3 ® 6 @9 ® 18




8.

2

1
-3

B

1
S

1 _ _ _
St 5) o ANSGL 1, x o] At ATpo] Fe?
7 3 1 3
2-5 @5 @ 5
3 1 1 1
R S N SRR S
6x° + x 4x 3 0x +4x 3
1 2-1 1
8 8 8




9.

2(2x +1)% — (x + 4)(x - 4) 5 7HFs] 5hA?

@ 15x% + 16x + 20
® 7x*+8x-14

® Tx% +4x+17

@ 15x% +16x - 12
@7362 +8x+ 18

2(4x% + 4x + 1) — (x% - 16)
= (8x% +8x+2 - x* 4 16)
=T7x* +8x+18




10. x(x-1D)(x+2)(x=3) = x* + ax® + bx? + cx WA &5 a, b, c 9] 3
a+b+c9 P27

® -3 @—1 ® 2 @ 3 ® 6

B

x(x=1)(x+2)(x-3)

= {x(x = DH(x+ 2)(x - 3)}

=2 -x)(x2-x-6)

2 —x =12 |25t t(r - 6) = 1> - 6t

t=x% - xE ddsto] FeotA x* - 2x3 - 5x2 + 6x
etA a+b+c=-2-5+6=-1°|c},




11. 102x98 = A4t o, 34 ¥4 o] &5t
At A7

(a+b)? =a®+2ab + b?
(a—-b)? = a® - 2ab + b?

(a+D)(

© o o

a-b)=a*-b*
@ (x+a)(x+b)=x*>+(a+b)x+ab
© (

ax + b)(cx +d) = acx® + (ad + be)x + bd

(100 4 2)(100 — 2) = 1002 — 2% = 9996




12. a+b=6,ab=8 A W, a®> +b* 9] 72?7

Do @ 10 ® 15 @ 18 @20

a?+b%=(a+b)?-2ab°]EE, 62 -2x8=236—-16 =20




13. (a— g) (a+ g) - <ga+2b) <ga—2b) = pa® + qb* A

p, q °ll Ttiote] 16p + 99 ] F2?

O 24 )26 ® 28

g

2~
e

* 16p+9g = -9+ 35 = 26




14, o1 AAZRONA AU RO HolE 0 b AT 4
RER

st A0 2 e}

/b\

L

D a?® + 2ab + b? (@)cﬂ—%b-l—b2 ® a?-b?
@ a2+ b?

® 2ab

O] Yol)= (a-b)? = a® — 2ab + b*




15.

= 2 (2 + 3y + 1)(2x - 3y + 1) = HFEA] A9 A27

D a4 07 —dr 1 @ -9y + 4x 11
® 4x? +9y* +4x +1 @ 4x* - 9y* —4x+1
@ 4x2—9y2+1

B

2x+1=r2} 54
(2x+1+3y)(2x+ 1 -3y)
= (14 3y)(t—3y) =12 - 9y°
= (2x+1)2 - 9y?

=4x? +4x+1 - 9y?




